PART -1

1.  Which one of the following fundamental rights is available only to the citizens of India but
not to foreigners living in India ?
(a) Equality before law
(b) Freedom of speech and freedom of expression
(c) Right to life and personal liberty
(d) Right of religious freedom

2. Under Uttarakhand Right to Service Act, 2011, the second appellate authority may impose
penalty on designated officer who has failed to provide service within prescribed time
upto 3 :

(a) Five Hundred to Five Thousand (b) One Thousand to Five Thousand
(c) Two Hundred Fifty to Five Thousand (d) Five Hundred to Ten Thousand

3.  The Parliament of India consists of
(a) Lok Sabha and Rajya Sabha
(b) President, Lok Sabha and Rajya Sabha
(c) Lok Sabha, President and Council of Ministers
(d) Lok Sabha, Rajya Sabha, President and Council of Ministers

4.  Who amongst the followings was Chairman of the inaugural session of the Constituent

Assembly ?
(a) Dr. B.R. Ambedkar (b) Dr. Rajendra Prasad
(c) Jawahar Lal Nehru (d) Dr. Sacchidanand
5.  Who among the followings cannot be removed by the Governor ? Ea%

(a) Members of the State Finance Commission

(b) Members of the State Public Service Commission
(c) Vice Chancellor of a State University

(d) Advocate General

6.  Which one of the followings cannot be dissolved but can be abolished ?
(a) Rajya Sabha (b) Lok Sabha
(c) State Legislative Assembly (d) State Legislative Council

7.  The Contingency Fund of India was created in
(a) 1950 (b) 1952 (c) 1954 (d) 1962

8.  Which of the following amendments in the Indian Constitution has made the Right to
Education a Fundamental Right ?

(a) 86" (b) 91 (c) 92 (d) o9s5*
9.  Who among the following was not obtained Bharat Ratna in 2019 ?

(a) Pranab Mukherjee (b) Nanaji Deshmukh

(c) Atal Bihari Vajpayee (d) Bhupen Hazarika

10. As per Constitution of India, which of the following rights cannot be suspended or
curtailed during an emergency ?
(a) Right to speech (b) Right of freedom to move in the country
(c) Rightto life (d) Right to organise
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1. T 9 SRl # 9 F 91 T had WRA™ TATHERT i 1 3Teed 8, W WA H T84 atet
ferefarrt st &t 2
(a) Tofer < awer gaman (b) e TETA=T 3R AfTATh WA=
(c) Sfad TR SARET Td=rd1 1 B (d) @it Tad==IdT T HATTHR

2. 3T@vS TaT Ifeeer ffEw, 2011 % dgd Fuifa smemafy @ gar Sucsy T8 e 9
Tafea siftreertt w fgdfa srdfiefiar sifieert gue STifia e &g a8 T

(a) UTE G Y UTd F9IR ah (b) T IR | Ui &SR dh
(c) TS HEure &R dh (d) Ul E ¥ gH BSIR dh
3. YR 9Eg 4 3
(a) o AT IR T A9 Y (b) Tgufd, A T I T AT Y

(c) i @y, Ugufd SR AR-uigg @ (d) < [T, T 9T, TPUTd 3R g -ufg
4. T899 3N glayum oW F SqERT T & AT Y 7

(a) . 1.3, g (b) . ol T8
(c) AT ATA 18& (d) . afaeEg
5. T 9 % TSIuTE g Ued T8 (kAT S Hehal ?
(a) T forq T = "o (b) TSI AT Tl RN o TG

(c) T favafeemer & perafa (d) TsdIehe S
6. T4 @ forg w1 9 fohar <1 webat, febeq wTe fohe ST whaT 8 7

(a) TSI QAT (b) I T (c) Tfagmaw  (d) T faum ufg
7. WA <hY 3TTeR Ees Ty Tefya <t s oft .
(a) 1950% (b) 19527% (c) 1954# (d) 19627
8. WRdE Gfays & fr et # 1 fopma fren & s1ier =61 Hiferss st sAmn @ 2
(a) 86ar (b) 91ar (c) 92af (d) 95ar
9. Tymfcriaa & & ferEepl 2019 T WA T &l ITH G T ?
(a) ST HES (b) A wgE
(c) 312 fagr arereht (d) YU IR
10. YRR Gfag™ @ 3FER, = il § 8 %9 91 T STTaehial § 9 a1 FHafraa 7@ fomn
ST EhdT ?
(a) WTYUT ST SARIFHR (b) T T AN Sh TeId=IdT T RN

(c) Sied 1 3TferepR (d) TTfed B T ATIHR
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Who was appointed as Chairman of 15" Finance Commission of India ?

(a) Arvind Pangaria (b) Amitabh Kant
(c) N.K. Singh (d) Sindhushree Khullar
How many countries are in Eurozone upto January 2019 ?
(a) 18 (b) 19 (c) 20 (d 22
Which country has opened first intercontinental under-sea railway ?
(a) France (b) Turkey (c) Russia (d UK.
Who become the first person to make double century in any Cricket World Cup ?
(a) Brendon McCullum (b) Rahul Dravid
(c) Chris Gayle (d) B.A. Sangakara
Who among the following was President of Gymnastic Federation of India in 2019 ?
(a) Sudhakar Shetty (b) R.S. Sharma
(c) Rakesh Garg (d) Karnail Singh

5
Who was the winner of ‘Tour de France-2019’ ? ik
(a) Nairo Quintana (b) Egan Bernal
(c) Andreas Seppi (d) Andy Murray
Among the followings who is the winner of Men’s Single of Wimbledon 2019 ?
(a) Novak Djokovic (b) Roger Federer
(c) Andy Murray (d) Andreas

During which year Aurangzeb reimposed Jeziya ?
(a) 1660 CE (b) 1679 CE (c) 1710 CE (d) 1757 CE

Kolam Samvat was started in
(a) 425 A.D. (b) 650 A.D. (c) 825A.D. (d) 1200 A.D.

The Head Officer of the state treasury during reign of Chandra Gupta Maurya was known
as

(a) Samaharta (b) Karmantik (c) Sannidhata (d) Douwarik
Which one of the following is the earliest temple of India ?

(a) Teli Temple at Gwalior (b) Temple No. 17 at Sanchi

(c) Bairat at Jaipur (d) Jadiyal at Taxila

From which country did Subhash Chandra Bose give the call “March to Delhi” ?
(a) Germany (b) Singapore (c) Japan (d) Myanmar

Who were the first foreign invaders on the North-Western Frontier in ancient India ?
(a) Sakas (b) Greeks (c) Persians (d) Chinese

How many persons are the winner of Green Nobel Prize in 2019 ?
(a) Two (b) Four (c) Five (d) Six
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11. fr=fafiaa d 9 forden! YRa o 159 fora 3T AT 318887 ST 7T 7

(a) 3Tfag wmfean = (b) AT HId T

(c) TA.%. Rge (d) Trgsh geer =
12.  SHRI 2019 T JUSTH | foha <1 AfFfeTd g 7

(a) 18 (b) 19 (c) 20 d 22
13.  Topm w1 3 TG & i vgelt sTrugTEId o g 6 7

(a) WA (b) ThiA (c) &g (d) I3h.4
14. Toreht oft forohe Tova % O SigT S1ds sHM oTelT JoH SARE $iA 8 ?

(a) SeIHRPEH (b) TGS (c) TraTa (d) .U TR
15. Trafefaa & @ %9 2019 ° Wi & fSefees o %1 3ega1 @ 7

(a) FIERAL (b)) FRTE.IH () THAT (d) g

16. T-E1-1H 2019 1 fosidr hiF o1 ?

(a) FFFEAT (b)) FH A () Ugsadt (0 TR
17. = % @ qey firew fomeere 2019 % fosar A & 2

(a) T SAThITeh (b) UK HST

() TER (d) g
18.  3TRaTore = i fopm o 4 3tifua foeam 2

(@) 1660%.°  (b) 1679%. % (¢c) 1710%. @ (d) 1757%.9

19. IO Had TR 37T o1
(a) 425 3. EIH (b) 650 S.TAH () 825 5. ®AH  (d) 1200 5. EH

20.  IT[H I o AERTA H TSTehIY o1 IS 7T STHT STar o
(a) THETEAT A (b) HRATIH T (c) GfFgmTaryd (d) TaiHd

21. 9 4 9 19 91 Yra 1 Iriaaa dfet ® ?

(a) TaTToTeR T deft Hiex (b) @it 1 Ol T 17

(c) SR SR (d) TR F FeaE
22, |uTYES O A “Teeett Tt w1 A fohe oo & e ¢

(a) SEATE (b) RmRaA (c) WU (d) wERH
23, IR YR | IA-Tigert St W 3MshH0T S ol gy faesfi A o 7

(a) T (b) F= (c) ST (d) =
24. 2019 H foha AT o1 I et TEhR foet o ?

@ @ (b) =W (c) W= d) ®e
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25. At whose demise did Mahatma Gandhi say ‘A star from Indian Solar System has
eclipsed’ ?

(a) Bal Gangadhar Tilak (b) Lala Lajpat Rai

(c) Gopal Krishna Gokhale (d) Mahadeva Govind Ranadey
26. By what name is the point of origin of earthquake known ?

(a) Focus (b) Epicentre (c) Generation point (d) Earthquake point
27. Tsunami is the result of which one of the followings ?

(a) Earthquake (b) Storm (c) Hurricane (d) Avalanche
28.  Which one of the following district of Uttarakhand have highest population as per Census-

20117

(@) Champavat (b) Rudraprayag (c) Hardwar (d) Dehradun
29.  On which river Obra Dam is constructed ?

(a) Son (b) Gomti (c) Rihand (d) Kosi
30. The maximum Rubber producer state in India is

(a) Karnataka (b) Kerala (c) Tamil Nadu (d) West Bengal
31. Mac-Mabhon line is in between

(a) India and Pakistan (b) India and Bangladesh

(c) India and China (d) India and Myanmar @%g
32.  Which part of the following is called the ‘rice bowl” ? =

(a) Ganga-Sindhu plain region (b) North-Eastern region

(c) Krishna-Godavari delta region (d) Kerala and Tamil Nadu
33. On which river is the Shiva Samudram water fall situated ?

(a) Chambal (b) Krishna (c) Cauvery (d) Godavari
34. Malachite is a mineral of

(a) Iron (b) Calcium (c) Copper (d) Magnesium
35. Name the chemical substance present in the bones and teeth.

(a) Calcium Sulphate (b) Calcium Phosphate

(c) Calcium Chloride (d) Calcium Borate
36. Which of the following is not a natural polymer ?

(a) Silk (b) Cellulose (c) Rubber (d) Plastic
37. Fluoride pollution mainly affects to

(a) Kidney (b) Teeth (c) Eyes (d) Nervous System
38. For evolutionary success mutation must occur in

(a) Somatic R.N.A. (b) Somatic D.N.A.

(c) Germ plasm R.N.A. (d) Germ plasm D.N.A.

39. The title of the book written by Marx and Engels, on the Revolt of 1857 is
(a) The First Indian War of Independence (b) Revolt of 1857
(c) First War of Independence (d)y 1857
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ACE

foperhl o TR HETCHT et 4 a1, “HRd T GRavse 8 T Ram g8 T ?

(a) T TMER foeTeh (b) AT ATI T

(c) T Fo0T @t (d) eI Mg TR

Ve Shl el 1 T TR T8 | ST ST R 7

() fir (b) s (0 safifig (@) wEfeg
gt e 7 & fopmenr wfomm 2 7

(a) ¥R I (b) FIBLH (c) q®MH I (d) TemumEs
2011 3l SFATUMET % ITTIR IATGUE H T4k SHE aTell [t i a1 g 7

(a) =TS (b) ®EFET (c) BNER (d) <&
NG Y TohE T W SRR R ?

(a) TAW (b) TMHA W (c) TEewm (d) HEHW
T § Haifereh T 3cTed ohid a1 T 8

(a) THAEH (b) A (c) dferTg (d) ufzeam s
Aep-MeH @ AT § B

(a) YA Ud UTfehed™ (b) YRd Td ITATC

(c) YRATIHATH (d) YRd U WIMHR %

1 5 Q9 |1 8 9T T RN hEATT B 7

(a) TT-Toey frerh &= (b) ITli-ge e

(c) FOM-TEEd Seel & (d) T qUT AT

Taran wggy St yura fora T W fRE R 7

(a) TEATR (b) FHUMW (c) AU (d) e
UATHIEE G &

(a) g (91q) BT (b) hicaad I (c) dis I (d) Bffsrm
3T T TeTe ol AT 9d1SU ST §Ieal o eidl § U1 a1 g ?

(a) Hfcm TR (b) ST BERS  (¢) Hoddd FANES (d) FHfodad e
=1 9 & %1 wTpfaes sgere (Merm) T 8 2

(@) (k) (b) HgE ©) s (d) e
TARTES TG I T hidl 8

(a) TBHI (b) <fdi (c) =i (d) =Rt oo =l
TorepTEreRTdt TheTaT o fold Icafiad BT =nfed —

(a) <fes M o (b) cRFH WU A

(c) g ARTIU T (d) SFHEHFE T A

1857 =1 ShIfT T HTE 3R Uf~ied g foifaa q&aes o1 3five @

(a) < B 3fusas a9 31T sfeusH (b) TrEree 317% 1857

(c) W& IR ATH 3fgusa (d) 1857
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40. The first transgenic plant produced was

(a) Maize (b) Rice (c) Tobacco (d) Cotton
41. Which of the following causes Polio disease ?

(a) Bacteria (b) Virus (c) Fungus (d) Parasite
42. In curd, which bacteria are found in abundance ?

(a) Salmonella sps. (b)  Lactobacillus sps.

(c) E. coli (d) All of these
43. Formation of hole in Ozone layer is maximum over which place ?

(a) India (b) Africa (c) Europe (d) Antarctica
44. Which of the following gas is considered responsible for damage to the Taj Mahal at Agra ?

(a)  Sulphur dioxide (b)  Chlorine

(c) Fluorine (d) Carbon fluoride
45. The main cause of algal blooming in an aquatic ecosystem is

(a) Global warming (b) Salination

(c) Eutrophication (d) Bio-magnification

46. Which of the following atmospheric layers is nearest to the earth ?

(a) Troposphere (b) Exosphere
(c) Stratosphere (d) Thermosphere E‘%‘g
[=1;
47. Which of the following gas leaked during Bhopal gas tragedy ?
(a) Methyl isocyanide (b) Methyl isocyanate
(c) Ethyl isocyanide (d) Ethyl isocyanate
48. Which scientist used the term ‘Ecology’ — for the first time ?
(a) Charles Elton (b)  Arthur Tansley
(c) Eugene Odum (d) Ernst Haeckel
49. The maximum numbers of individuals that can be sustained in a given environment, is
termed :
(a) Carrying Capacity (b) Biotic Potential
(c) Environmental Resistance (d) Population Size

50. pH of normal rain water is about

(a) 2.6 (b) 3.0 (c) 5.6 (d 93
51. Working of a solar cell is based on which one of the following ?

(a) Laser Technology (b) Tyndall effect

(c) Thermal Emission (d) None of these

52. Name that component of diet which is assimilated as such.
(a) Fats (b) Proteins (c) Carbohydrates (d) Vitamins
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40. UEAT ZGSlTeh ScqTIed TIET o7 —

(a) Uhs (WHHT) (b) =EA (c) TR (d) U=
41. Oifern i sfigrd e 3 @ foraes RO B B ?

(a) St (b) fermoy (c) Wke (d) wRefie
42. AP A IR TgaEd A B S 7

(a) TTeHN WY, (b) RIS WY,

(c) 3. IS (d) TBEHt
43. 3TN Td H B¢ i T3 TohH T & HW ARhad 8 7

(a) WA (b) 3THIHT (c) I (d) 3TeTehieehT
44. T H @ € g 3 % e i g1 (&) TgEH % fore R A T R 2

(a) HoHL SEIHTSS (b) FAA

(c) WA (d) I FANEE
45. ek Sl1d T TeRoT & H SieTet SFe sl THE SR 3

(a) Sfgaes ardfietor OIRSELIEEE]

(c) gdmu d) S smEH

46. 11 © § ITgHSH h1 DM € Tag (Wd) g & Fepean g ?

(a) TIIEHR (b) TEHEIEHIT (c) EITHIT (d) UHERR
47. WO 79 FAEE H T H § fohd 7 o1 R g o ?

(a) Thurger smeEEEse (b) Thumze smEEERAe

(c) SUTEA ABHHRAES (d) U RS

48. ‘SIS e (ATH) T TAN T Ugt ford amiep 3 femam o 7

(a) IUUeHA (b)) IR ITEA (c) IS 3TeH (d) I e
49. T ardreRr H Stferehan wwen § yfoet w1 fde e @ -

(a) TETEHAT  (b) Sk mar (c) TATERUF UfqQe (d) ST 3TTHR
50. | a9l % o 61 pH (Fiw=) i &, e

(a) 2.6 (b) 3.0 (c) 5.6 d 9.3
51. HIeR (§R) ¥ 1 swrEdyunedt f= 8 @ fore @ smumia @ 7

(a) WSRAHAS (b) fevea yumE (c) dHE3IET  (d) 9 Y IS &l

52. 378N % 34 ©eeh | ATYA T ST 38 &9 H 377cw9Td (I1fard) 81d & |
(a) @& (b) A (c) el (d) faefim
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53. In which era of the Geological time scale did the humans’ appeared ?
(a) Palaeozoic (b) Pre-Cambrian
(c) Cenozoic (d) Mesozoic

54. Which of the following is not a Green House Gas ?

(a) Water vapour (b) Methane
(c) Carbon dioxide (d) Oxygen

55. Palaeoclimatic studies are done by studying
(a) Tree rings (b) Ice cores
(c) Lacustrine deposits (d) All of these

56. Who is the winner of ICC Cricket World Cup 2019 ?
(a) India (b) England (c) West Indies (d) South Africa

57. Dobson unit is used to measure which one of the following ?
(a) Thickness of Ozone layer. &
(b) Pesticide contamination in water. g%g
(c) Aerosol concentration in atmospheric column.
(d) None of these.

58. Which following district is under the seismatically most active/sensitive zone, in

Uttarakhand ?
(a) Almora and Nainital (b) Dehradun and Uttarkashi
(c) Bageshwar and Chamoli (d) None of these

59. Morbi dam burst incidence of Gujarat took place in which year ?
(a) 1969 (b) 1979 (c) 1989 (d) 1999

60. What type of Disaster occurred in Chernobyl in the year 1986 ?
(a) Volcanic (b) Earthquake (c) Cloud burst (d) Nuclear

61. Which year did the “Disaster Management Act” of Government of India came to force ?

(a) 2001 (b) 2005 (c) 2013 (d) 2015
62. Among the following, which is the most common form of glass ?

(a) Pyrexglass (b) Soda glass (c) Optical glass (d) Hard glass
63. Near sightedness of vision is technically termed as

(a) Hyper metropia (b) Presbyopia

(c) Myopia (d) Astigmatism

64. Which one of the following district of India have highest air pollution in 2019 ?
(a) Faridabad (b) Agra (c) Kanpur (d) Varanasi

65. Which of the following term denotes an error in a Computer Program ?
(a) Bus (b) Bug (c) Hybernate (d) None of these

66. Which of the following is a water soluble Vitamin ?
(a) Vitamin-A (b) Vitamin—B (c) Vitamin-D (d) Vitamin-E
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53. ymffa gaa-Thet % fore I & o Y At g8 7
(a) UlESE® (b)) Tk (c) HHNIE® (d) HEsTES

54, fEddwRAdResaaTEie ¢

(a) T aTq (b) A (c) ohIe SIEHES (d)  SATie
55. U Sorary (UferieeTsie) i 31egeH foha SiTaT 8

(a) T8 TR g (b) &% FA (FR) g

(c) eheis M&ugm (d) safisgm
56. TS.H1.H. fshehe fava Fu-2019 wT famar A 2 2

(a) WA (b) Fis (c) % UL (d) cfeqor STshienT
57. ‘Siee e’ — T 4 | frgehl waaT § ?

(a) HAISIH W s HIeTS (b) et § HIATITHT Tl

(c) TSI Ty | Ffciera Aigu (d) TH QB &l
58. ITAEUE % H H SUGI 1 Tg Yhrd fefa o gun gatfess afshe /gogrsfia & 8 2

(a) STHISI Ud Fraret (b) CEIGH TE TR
(c) WHIvaR Ud wHied (d) Y HETE
59, T[SRId < WIS S0 (STATSR) % <hi oo fohd o | g3 off ?
(a) 1969 (b) 1979 (c) 1989 (d) 1999

60. =Hifa H 1986 | 3118 3Tder foh@ T bl off ?
(a) SAEERE (b)) T (YHU) (c) SIeH BTl (d) Tl

61. WRd GUhR 1 319l JaeH T fong 99 & forameea o 3 ?
(a) 2001 (b) 2005 (c) 2013 d) 2015

62. T 1 9 19 91 gaifes Aramu ThR HTHhE 2 ?
(a) UEBEESME (b) HISIHME (c) Hfehasa (d) HIRHA

63. Tehe gfse &1 aehriehl AW 8

(a) TREWIAMET (b) eI (c) HTETRN (d) ufemfesn
64. TrAferiaa o & 1 @1 fe 2019 § WR 1 Faifes arg ygha fren @ ¢

(a) WlgETe (b) W (c) WAL (d) STt
65. 1o @ o |1 e HrEg Tum # IR i emiar g ?

(a) &9 (b) = (c) BIERAL (d) 3T HHIETE

66. =15 @ e | foerfim ot § e 8 2
(a) fTfm-uv (@) fefe-@ (c) Toerfmm - d) foefm -3
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67. Which one of the following is a Web browser ?
(a) LINUX (b) Facebook
(c) Mozilla Firefox (d) None of these

68. Which one of the following is not a Transmission medium ?
(a) Telephone lines (b) Coaxial cable
(c) Modem (d) Microwave system

69. Which of the following converts high level language into machine language ?
(a) Compiler (b) Interpreter (c) Assembler (d) None of these

70. How many Union territory are at present in India ?
(@) 6 (b) 8 (c) 7 (d 9

71. Using which of the following, one can write a Webpage ?
(a) HTTP (b) SMTP (c) FTP (d) HTML

72. To which of the following is one byte equivalent to ?
(a) 32 bits (b) 16 bits (c) 8bits (d) 4bits

73. The laws of planetary motion were discovered by
(a) Kepler (b) Copernicus (c) Newton (d) Galileo

74. Which of the following statements is true for a Satellite moving round the earth with a
uniform speed ?

(a) Its time period depends on its mass.

(b) Its motion has no acceleration. EE
(c) Its motion has an acceleration. Eﬂ%ﬁ
(d) Its time period is 24 hrs.

75. The first artificial Satellite launched into space was
(@) Vostok—1 (b) Sputnik —1I (c) Pioneer —1 (d) Suyaz-1

76. The Indian space program began in the year
(a) 1960 (b) 1962 (c) 1965 (d) 1969

77. Halley’s Comet was last seen in the year
(a) 1972 (b) 1975 (c) 1982 (d) 1986

78. Which of the following communication relies on radio-signal or infrared signals for
transmitting data ?

(a) Wireless (b) Wired (c) Fiber optics (d) None of these
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i s THdg IsW R ?

(a) e (b) HETH (c) ITeT BB (d)
= o 9 19 U gigfime (FuwoT) wiem T R v

(a) HBHAET (b) HURIITADEA (¢) HISH (d)
=1 1 9 i 3= e vy 1 i 9 d Seaan e ?

(a) HHTE (b) FEUX (c) TH™ITR (d)
TR | a0 § feha oheg, SIMTYd TS 8 7

(@ 6 (b) 8 (c) 7 (d)
fo= 1 9 forgent T ek AEUS Bl SFT Hehd @ ?

(a) T (b) TEEHSH (c) UHdM (d)
U w13, et d A ferdeh THqed Bt R 7

(a) 32T (b) 16Taem (c) 8fucH (d)
7@l <) Tifd o T <k @ <6 eft

(a) HURA (b) HIHH (c) A (d)

THHA T & it o =/ S EH T8 IWE 6 fIy i A hem wdl 8 7
(a) THHT IATEIDTA 3Hb GeTHH T M HaT B |

(b)  ZHeh! e | a1 &1 Bl |

(c) SHHI AT g |

(d) 3GHT JTERIHIA 24 TGS BT B |

ST 9 I3 TE

TTgshiad foen

ST 9 I3 TE

4 feg

AfeAfer 4

-1

1969 °

1986 1

FARE T ST AT IEAT HH IUUE AT

(a) aRTh-1 (b) TAT-I (c) UTAFRR-I (d)

WA 3TaeT Shiishl I §3TT o

(a) 1960 (b) 19627 (c) 19654 (d)

Bt <1 b 3o o fewrs feam o o

(a) 19727 (b) 1975% (c) 19827 (d)

=1 O 9 i i IeR e 1eT Uivd o o fore e e an sopie fame w it et
87

(a) T (b) dE (c) WIS AT (d)
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Who won two silver medals for Uttarakhand in the 16" National Open Para Badminton
Championship held at Chennai in the last week of September 2015 A.D. ?

(a) Prem Kumar (b) P. Kashyap

(c) Saina Nehwal (d) P.Padukone

The only Civilian to participate in Indian Air Force launched operation to rescue the
victims of Kedarnath flash floods of 2013 is

(a) Yogendra Rana (b)  Yogesh Semwal

(c) Harinder Rawat (d) Prem Kumar

Where was the poet Viren Dangwal born ?
(a) Faizabad (b) Lucknow
(c) Kirtinagar (Dist., Tehri-Garhwal) (d) Gairsain (Dist. Chamoli)

Who won the “Miss Diva-2018 title ?

(a)  Shilpa Saklani (b) Nehal Chudasma

(c) Tanya Purohit (d) Chitranshi Rawat

The capital of the Katyuri rulers was .
(a) Srinagar (b) Almora %’%
(¢) Kartikeyapur (d) Mordhwaj '
The last king of “Tehri State’ was

(a)  Sudarshan Shah (b) Narendra Shah

(c) Kirti Shah (d) Manvendra Shah

After Sindhushree Khullar, who has been appointed the CEO of NITI Aayog ?

(a) Arvind Pangaria (b) Tarsem Gujral

(c) Arun Jaitley (d) Amitabh Kant

The fault line occurring at South of the Shiwalik ranges in Uttarakhand is known as
(a) Trans-Himalayan Thrust (b) Main Central Thrust

(c) Main Boundary Fault (d) Himalayan Front Fault

Among the following which one is the main source of energy, in Uttarakhand ?

(a) Thermal power (b) Natural gas

(c) Hydro power (d) Geothermal power
‘Vandematram Yojna’ is related to

(a) Pregnant women (b) Ex-Army personnels
(c) State Andolankaris (d) Handicapped persons
Land slide tragedy of Malpa (Pithoragarh) took place on

(a) August 1992 (b)  August 1998

(c) July 2004 (d) June2013
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79. =13 # faarax 2015 3. % 3ifaq g @ mAfa 164 s 3 S-sefired Sftafim
Tfanfirar #§ STrEve o fou fohea €1 Toid ueeh Sfid 7
(a) IHFER (b) . H=H (c) WEATgE™  (d) i 9gHE

80. AT 8 fora It argEaT gRT 2013 3. Y HeRATY IS | = TS Heg i gew o
arflert i oft o8 2
(a) AMZIOM  (b) FMY AHATA (c) B Tad (d) I9FIR

81. <hid FRA STATE h1 S hal g AT 7
(a) SSTETg (b) @IS
(c) HIfdTR (SUe : feadi-Tgarer) (d) A (J9E : THIe)

82. “fira feam — 2018 =1 Raare fopa Sfiar
(a) TremEhaAr (b) HEd gEEE (c) = qufEd (d) Temmeft Teaa

83. el IMERhI i TSy off

(a) HR (b) IAHIS (c) IfdRIR (d) uRE
84. ‘fegli-foma & siftm w2

(a) FEAIME (b)) WRIE (c) Ik =M CIIECERI
85. Torepsft goor & are forar ifa i w1 g sriert sifereer frgea frn e 2 2

(a) 3= gTie=n (b) TqET EA

(c) ISt (d)  Tfran w

86. IurEve § Rrerferss Aforat o eferor  fera wiw T b el S @
(a) TEHTCE OR 9= (b) T& 0L 9= (c) FEImYw () Teuerh smwwm

87. SAUEve § fAiferd o @ & Sl H1 @ HIT B ?
(a) AEREHA (b)) TTfae T8 (c) AfIGd ol (d) AT Sl

88. ICHTAH ATSHI 1 T &
(a) v AigesTi @ (b) aud SRt |
(c) TSI HAQIATHIC & (d) feamsEia

89. urer (fuerrrTe) shi sywEe i e ufed g8 off
(a) ST 1992 (b) 3T 1998 (c) TS 2004 (d) {32013
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90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

Which one of the following criteria has been assigned 7.5 percent weight by the Fourteenth
Finance Commission of India for tax sharing with the states ?

(a) Population (b) Demographic change
(c) Area (d) Forest cover

What is the share of Uttarakhand in the Union taxes received by states as recommended by
the Fourteenth Finance Commission of India ?

(a) 1.05percent (b) 2.50 percent (c) 2.25 percent (d) 3.59 percent

According to Census-2011, which of the following states in India has higher sex-ratio than
in Uttarakhand ?

(a) WestBengal (b) Odisha (c) Assam (d) Jharkhand

Micro, Small and Medium Enterprises Development Act was implemented in India in the
year :

(a) 2000 (b) 2002 (c) 2006 (d) 2010

Which of the following country was the winner of ICC Women Cricket World Cup in
2018 ?

(a) South Africa (b) Australia (c) India (d) England

When was Pradhan Mantri Jan Dhan Yojana launched in India ?
(a) May 2010 (b) August 2012 (c) August2014 (d) 2" October, 2015

What is the amount of Life Insurance under Pradhan Mantri Jeewan Jyoti Bima Yojana ?
(a) 50,000 (b) X 1.00 Lakh (c) R 1.50 Lakh (d) 2.00 Lakh

Which one of the following authorities is authorised by the Constitution to impose
reasonable restrictions on Fundamental Rights ?

(a) Parliament (b)  Supreme Court
(c) President (d) Election Commission

According to Constitution of India the Upper House of State Legislature can be created or
abolished by

(a) State Legislature Assembly (b) Parliament of India
(c) Governor of State (d) Presidential order E%g

The Right To Information Act, 2005 aims at

(a) Promoting Transparency in Administration

(b) Promoting Efficiency and Accountability of Administration
(c) Containing Corruption in Administration

(d) All of these

Which one of the following agencies estimates the employment and unemployment in
India ?

(a N.EUO. (b) NS.S.O. (c) N.F.H.S. (d) N.AS.
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90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

W < dicgd ford ST g1 e o & fohe ATes ol TS o |19 3T AR 7 7.5 faerd 1
R Frerifa fepm e g ¢

(a) <& (b) SHIfheh TREd (c) &%t (d) o7 A=A
YRA % Hiegd ford SATERT shi TEgferRi o STTER T2 bl TH e il H STREvE s faeiert
fopaft 2 7

(a) 1.059fw@  (b) 2.50 Ufawrd (c) 2.25 gfaerd (d) 3.59 gfawra

SFTUET 2011 < TR 7 # & 91 o fohd T o fefmgaTd STr@ve &1 qe | 31 § 7
(a) U smA (b) AfsIm (c) 3@H (d) FETe

HISSh!, TG Ud HIfSTH SeTITEeiel SaeqH- Uae YA | o] 31 Iy
(a) 2000 (b) 20027 (c) 2006H (d) 2010%

forafarftaa 9 @ 9 912w 2018 ° 3118 €t ©ft wiget forehe fargaeny w1 fasiar e 7
(a) TR 3ThlRT (b) AT (c) WA d) s

YA B Yo T S €9 AT e AT TS ?
(a) HS2010H (b) SITRA2012H (c) 2014 (d) 2 TR, 2015

T =il S S a1 IS o6 3t=ia Sited <9 b afst ferat @ 2
(a) %50,000 (b) ZT1.009m@  (c) Z1.50Td (d) Z2.00 T

T wferenTin & & i weh Wifereh STfiehl W FfRAETa Teh o o fore it & 2
(a) TOQ (b) T TEE (c) UFald (d) FAE I

AT |8 o AR T fqenfent & 3= geq (faam uftg) =1 we 3R gaeht Ty St
EIKETIRS

(a) U faum @ gm (b) YRR §HE gRT

(c) TSI & TSIUTA gRI (d) Tgufd % 3T gHT

AT T AR SAfaf=m, 2005 13899 8

(a) IRTEA | YRS 1 Haeq (b) TSI SHRIGITTd T e &1 daeq
(c) IMEA T WETER i UhoT™ (d) 3uUE Tt

1 0 9 o i o), WRd H§ USTTR T SUSITR] <67 3T7ehaid shidl 8 7
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101.

102.

103.

104.

105.

106.

107.

PART - 11

In a coded language, INDIA is written as RMWRZ. In the same language, how should
CHINA be written ?
(a) YRSNZ (b) XSRMZ (c) XRSMZ (d) YSRMZ

A is brother of B.

C is sister of A.

D is brother of E.

E is daughter of B.

Who is uncle of D ?

(@) A (b) B (c) C (d D

A is brother of B. B is sister of T. T is mother of P. If R is the maternal grandfather of P,
how is T related to R ?

(a) Grand daughter (b) Sister

(c) Daughter (d) Wife

If rain is water, water is road, road is cloud, cloud is sky, sky is sea and sea is path, where
do aeroplanes fly ?

(a) Road (b) Sea (c) Cloud (d) Water

Find the missing number (?) in the following figure :

/N
% >< Eﬁg
[a:
142 34
\?/

(@) 72 (b) 70 (c) 68 d) 66

For Assertion (A) and Reason (R), choose the correct alternative.
Assertion (A) : Inside the earth metals are present in molten form.
Reason (R) : Earth absorbs the Sun’s rays.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

In a certain code

157 = He is naughty

723 = She is cute

825 = Cute and naughty

What is the code for ‘She’ ?

(a) 2 (b) 3 (c) 5 (d 7
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101.

102.

103.

104.

10s.

106.

107.

R

HET-11
ToREl e WS H INDIA %1 RMWRZ fa@n Sar 8 | 3t 91 § CHINA &1 8 T
=1 2
(a) YRSNZ (b) XSRMZ (c) XRSMZ (d) YSRMZ

A,BHIER |

C,AHFI &R |

D,E®IYER |

E,BH AR |

D I =TI & ?

@ A (b) B () C (d D

ABHIUER IB, TH TG | T,PHIAMIR | IR, PH Tl T R T 1 T4 8 2
(a) Ol (b) & (c) oA (d) Ui

Ife a9t a7, U 4Eh &, HSh J1eH &, S1eal ITHIH &, STHHH g g 91 9z TE &, al
FATS 8T el 38d & ?
(a) WEHh (b) w5 (c) dmed (d) Ot

= smpfa o g T (2) T HIRH

/\
% ><
142 34
\/
(@) 72 (b) 70 (c) 68 d) 66

H (A) & ford ek (R) B | W&t fershen 1 gA1a I |
TR (A) : W o IT=eX o1q Toeref sTawen # % |

T (R) : V¥ T <t Fertoni ol TmTfed st oiel 2 |

(a) CHI (A) T (R) Tcd & AT (R), (A) 1 T8 T § |

(b) M (A) @1 (R) & &, W (R), (A) T Tl Tt T 2 |
(©) (A)HAR, W (R) IEAE |

(d) (A)FEAR, T (R)FAE |

s ffved e o

157 = He is naughty

723 = She is cute

825 = Cute and naughty

‘She’ T HE FT 7 ?

(@) 2 (b) 3 () 5 (d 7
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Average age of three children in a family is 20% of the age of father and the eldest child.
The total age of mother and youngest child is 39 years. If father’s age is 26 years, what is
the age of second child ?

(a) 15
(b) 20
(c) 25

(d) Cannot be determined from the given data.

India’s Republic Day in 1996 was celebrated on Friday. Name the weekday when it was
celebrated in 2002.

(a) Tuesday (b) Saturday (c) Wednesday (d) Sunday

Which one of the following is same as 30% of 40% of 560 ?
(a) 15% of 80% of 280 (b) 30% of 80% of 280 E%I?j
(c) 60% of 40% of 280 (d) 80% of 40% of 280 =

The sum of all two digit numbers is
(a) 4950 (b) 4905 (c) 4925 (d) 4920

The dimensions of a rectangular block are 3 cm, 4 cm and 5 cm. If dimensions are
doubled, the ratio between the volume of old and new block will be

(@) 1:4 (b) 1:8 ) 2:3 d 2:5

In a row of girls, Kanta is 12" from the left and Kirti is 8" from the right. If they
interchange their seats, Kanta becomes 15 from the left. How many girls are there in the
row ?

(a) 20 (b) 21 (c) 22 (d 24
. . . 111 o .
The sides of a triangle are in the ratio 53y If the parameter of this triangle is 52 cm,
find the length of smallest side.
(a 9 (b) 10 (c) 11 (d 12

In a family of four, the average age is 19 years. What will be approximate percentage
increase in average age after two years ?

(a) 8% (b) 10.5% ) 11.2% d) 12.8%

Study the information and answer the question :

Kailash, Govind and Harinder are intelligent. Kailash, Rajesh and Jitendra are hard
working. Rajesh, Harinder and Jitendra are honest. Kailash, Govind and Jitendra are
ambitious.

Which one of the following person is neither hardworking nor ambitious ?
(a) Kailash (b) Govind (c) Harinder (d) Rajesh
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108. T URER & fF s==i <t 3fEd 1Y fun 37t a8 5= 1 311 1 20% & | Al T8 B =
AT HTAT ShT 3T T AN 39 T & TG TUa1 hl 31 26 T8 8 T g8 T= hl Y AT R ?

(@) 15 (b) 20

(c) 25 (d) Te g3 arinei o & fehrett ST wehet |
109. 1996 T YRA <1 TUTAA fea® YERaR <l TERT 7T | a9 2002 § 39 &7 &1 9 sdqrsd Ja I8

T T 97 |

(a) TTAAR (b) WHER (c) THaR (d) Te=mr
110. =58 560 % 40% o 30% % GHH HIT & 2

(@) 15% of 80% of 280 (b)  30% of 80% of 280

(c)  60% of 40% of 280 (d)  80% of 40% of 280

111. CZTS 3Tk ATcA! THET ST 1 I 2
(a) 4950 (b) 4905 (c) 4925 () 4920

112. T JRARHR @Ug i fomrd 3 aft, 4 @t qor 5 &ft 2 | Afg sevept wra g o T Sty
T QAT T GUE oh ST oh S1< STTITT BT
() 1:4 (b) 1:8 ) 2:3 d 2:5

113. TTEferat &l Tk Ufad 3, il a1 § SRES aUT Hifd gl § 3769 T W 2 | Ife I8 S 79T
oI et A i AT A UEEd T W A A 2 | i 3 e e §
(@) 20 (b) 21 (c) 22 d) 24

114, % B 1 st o1 Sy <3 1 2 Bt o e 52 36f 2 o w9 e

TS T I |
(@) 9 (b) 10 (c) 11 d 12

115. =R SAfdEi % TR i S 3G 1998 & | 2 99 o6 f1|a 31g H T feoha Sferera i
gfg Brft 2
(a) 8% (b) 10.5% © 112% d) 12.8%

116. F1 T ST FHL T 1 I G0
SheATST, Mg T Bt fgHM § | Shettar, Torst aei forawg aftendt & | Torn, giteet 9 fas
SR 2 | et Tifere aen frag sfiremd § |
=1 1 o i e 7 a1 uftendt 8 3 T € st 2
(a) el (b) e (c) Bt (d) TS
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117.

118.

119.

120.

121.

122.

123.

124.

How many extra lines are required to join each letter in the following figure ?

A B
H C
G D
F E
(a) 20 (b) 22 ) 24 @ 25

1
If 5 be subtracted from both numerator and denominator of a fraction, it reduces to R If2

) . 2 . .
be added to both numerator and denominator, it becomes 3 Find the fraction.

12 14 15

(@) (b) 19 (©) 19 (d 19

O |

The two words “Dubious : Indisputable” have a certain relationship. Select the pair of
words which has similar relationship.

(a) Slander : Libel (b) Painful : Tormenting E%Ig

(c) Perspicacious : Tenacit (d) Avaricious : Generous e

If PRIVATE is coded as 1234567 and RISK as 2398, how will be RIVETS coded ?

(a) 232679 (b) 243769 (c) 234769 (d) 234976

The amount of water in a barrel doubles every minute. Barrel fills up completely in 60
minutes. In how much time will it be half fulled ?

(@) 20 minutes (b) 30 minutes (¢) 40 minutes (d) 59 minutes

Two numbers are such that their difference, their sum and their product are in the ratio
1 : 7 :24. The product of the numbers is

(a) 6 (b) 12 (c) 48 (d) 24

A batsman has a certain average of runs for 11 innings. In the 12™ inning he made 90 runs
and his average got reduced by 5 runs. His new average is

(a) 127 (b) 145 (c) 150 (d) 217

What is the least number which should be subtracted from 10420 to make it perfect

square ?
(a) 16 (b) 25 (c) 89 (d 99
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117. T 3181 bl T < ford f T o fepa) afaftea Tam =nfeg 2
A B
H C
G D
F E
) 20 (b) 22 (©)

118. fri S @A @ ssrzrﬁqtﬁqﬁr% B S 2 | 37 3 H 2thﬁqtﬁ4:r§a:r
It 8 | 9= e Hif |

(a)

(a 24 (d) 25

12 14 15
® 19 © 79 @ 19

O |

119. < wisg “dfqy : ffdare” 4 v Ffvaa Ty 3 | woel 1 a8 et IR fad 35 gr &1

T Bl |
(a) Tremss o (b) HICES : Jcdie
(©) pumEfy : fred (d) et g
120. Jf T e W1 H PRIVATE i 1234567 foT@n Sar g 3R RISK %I 2398, @ RIVETS !
Y forat S 2
(a) 232679 (b) 243769 (c) 234769 (d) 234976

121. T U & o i 71 T e St gt @ | i1 60 feed # quf €9 9 W S 7 | fehad
el ® 98 e W ?

(a) 20 fomed (b) 30 fimed (c) 40 fired (d) 59 fied

122. < ST fSehT 3T, A AATIOM 1 : 7 : 24 319G § & A1 3 G371 1 IR &
(@) 6 (b) 12 (c) 48 (d) 24

123. Tk SociaTl bl 11 IR H Ueh Tfvaa @ 3ea 2 | 12 o § 98 90 T §=1dT & 3R 356 Wi
T 3T 5 T HA B AT 8 | SHeb T o1 TI1 A8
(@) 127 (b) 145 (c) 150 ) 217

124. 98 % ) T98 B T & el 10420 ¥ T T g qUf 7 51 bl & 2
(a) 16 (b) 25 ) 89 d 99
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125.

126.

127.

128.

129.

130.

131.

132.

133.

b

If printed signs ‘+’ and ‘—’ and numbers 4 and 8 are interchanged. Which one of the
following alternatives is correct ?

(a) 4-8+12=0 (b) 4+8+12=16
(c) 8-4+12=8 (d 8+4-12=24

One fourth of a herd of Cows is in the forest. Twice the square root of the herd has gone to
mountain and the remaining 15 are on the bank of a river. The number of cows in the herd
is

(a) 6 (b) 36 ) 63 d 100

At the end of a business conference, 10 people present shake hands with each other only
once. How many hand shakes will be there all together ?

(a) 20 (b) 45 ) 50 d) 85

A certain street has 1000 buildings. A person is contracted to number the houses from 1 to
1000. How many zeros will be needed ?

(a) 180 (b) 182 (c) 190 d 192 gﬁ%

In a group of 15 people 7 read French, 8 read English while 3 of them read none of the
two. How many of them read French and English both ?

(@ 0 (b) 3 (c) 4 (d 5

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertake to do it
for X 3,200 with the help of C, they completed the work in 3 days. How much is to be paid
to C?

(a) %375 (b) 400 ) %600 (d) %800

5 kg of adulterated rice has 2% stones in it and rest is the rice. Half of the stones are
removed. Now the percentage of stones in the adulterated rice will approximately be ?

(@ .99 (b) 1 ) 1.1 d) 1.01

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed
for the trip was reduced by 200 km/hr and the time of the flight increased by 30 minutes.
The total duration of the flight

(a) 1 hour (b) 1'% hours (¢) 2 hours (d) 2% hours

Average of 13 numbers is 68. Average of its first seven numbers is 63 and last seven
numbers is 70. Find out the seventh number.

(a) 45 (b) 47 (c) 49 d) 52
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125. afg B9 53 fag + qen — 3R 99 4 U7 8 i TER I e S & af f fohedi 6 &
S HE B ?
(a) 4-8+12=0 (b) 4+8+12=16
(c) 8-4+12=8 (d) 8+4-12=24

126. TR % Teh YUS <l Toh =1TS TohET ST H 8 | ot FEAT o T ol GTHT URTS] IX 7T 39 15
ﬁ%%ﬁ%lgﬂgﬁw@aﬁm%:
() 6 (b) 36 ) 63 ) 100

127. Terelt iUy TRt < EHIed W 10 SAfeall < Teh gl & helcl U SR 1Y el | o8l et
fope g1 e ) 2
(a) 20 (b) 45 ) 50 d) 85

128. forEft s 9T 1000 HhM @ | HohMI W 1 F 1000 Tk T foT@ o o3 wes =afed @ dferer A
i} | 38 Pt Feha I Sl STarvIrhar gt 2
(a) 180 (b) 182 ) 190 d 192

129. 15 SAfRTT o Toh g H 7 W, 8 $ioTs 9@ aTel & Seifeh 3 39 aHi H %9 ¥t 78 9ed | fehad
e Ther T SieTst Q1 hl dgd & 2
(@ 0 (b 3 (c) 4 (d 5

130. et St sl A 3Tehett 6 et # G B 31ehent 8 fer T s A1 8 | AT B2A1 4 23,200
1 QU S 1 e form | C < gerran | gFi A % 3 fei 9 g e fomm | ¢ i fera Tfy
ST TAAR 2
(a) T 375 (b) T 400 (c) T 600 (d) T 800

131. 5 foreat Safufa =maeti § 2% YR & a7 39 =19 8 | Tel <hi 31efl 91 821 & St @ | 379
B ST =TIl H YeRi shT AfeTd T B
(a) .99 (b) 1 ) L1 @) 101

132. 600 fermt St 3 # Tk T =it if e e o R efitft et Ut | gEeht 3itea i amn
% g 200 fopeft wf e et wh qen Ie™ w1 ' 30 e Ser T | I8 W A T
Ll
(a) 19 (b) 1%EA (c) 2% (d) 2v%E

133. 13 TEAT3T kT 379 68 & | 3Heh! UUH 7 TEATAT okl 3N9d 63 9T JAf<H 7 T3 1 306d
70 B | HTadl ST 19 hINH |
(a) 45 (b) 47 (c) 49 d) 52
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134. How many pentagons are there in the following figure ?

(a) 16 (b) 14 ) 12 @ 10

135. How many triangles are there in the following figure ?

(a) 5 (b) 6 ) 8 @ 10

136. The following table gives distribution of work hours in a factory :
Number of workers: 20 15 25 16 4
Number of hours worked : | 45-49 | 40-44 | 35-39 | 30-34 | 0-29

What percentage of workers worked for 40 or more hours ?

(a) 25 (b) 333 (©) 43 (d) 445
. . . 3 .7 Lo
137. Find out reciprocal of sum of reciprocal of 35 and 3 :
36 21 4 1
(@ 335 (b) 22 (¢ 3 d 7

138. If the area of a circle given in the figure below is 9n, what is the area of ABCD in the
figure ?
A B

&
N

(a) 36 (b) 24 ) 30 d) 35

139. Shashi can do a piece of work in 20 days. Tanya is 25% more efficient than Shashi. In how
many days Tanya can complete the same work ?

(@ 15 (b) 16 ) 18 d) 25
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134, Fr1 3mmepfar 8 ferae dae € 2

(@) 16 (b) 14 ) 12 d 10

135. T 3TTehfd # fohad T & 2

@@ 5 (b) 6 ) 8 d 10

136. T ifeolt wep @™ § 1 & e <kl ewidl &

HSTGU o T 20 15 25 16 4
HH b UL : 45-49 | 40-44 | 35-39 | 30-34 | 0-29
T sifereTa wTqul = 40 A1 36 31fereh B¢ S fohRa ?
(@) 25 (b) 333 () 43 @) 44k
137. %ng%w%aﬁnaﬂwmﬁﬁa:
36 21 4 1
(a) 35 (b) 4 (¢) 3 (d) 1

138. = e g3 o 5 9 1 &%t 9n 2, @1 3 | T ABCD 1 &%el 991 3 2
A B

&
A

(a) 36 (b) 24 ) 30 @ 35

139. St fopeft et b1 20 Teoi & o o6t wehell B | 1= ST & 25% 317 €21 7 | 35t bl Bl =
fepa feat & ot st wehelt 8 2
(a) 15 (b) 16 c) 18 d 25
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140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

Which of the following year will have a similar calendar to the year 2011 ?
(a) 2020 (b) 2021 (c) 2022 (d) 2023

A 130 metre long train running at a speed of 45 km/hr crossed a bridge in 30 seconds.
What is the length of the bridge ?

(a) 200 metre (b) 225 metre (c) 245 metre (d) 250 metre
If “+’ means ‘x’, ‘X’ means ‘+’, ‘+” means ‘-’ and ‘—° means ‘+’, what is the value of
(17+15-135%x9+70) _?

(a) 270 (b) 240 (c) 200 (d 170

What should be the next number (?) in the following series :
6,7,9,13,21,37, 7

(a) 43 (b) 53 (c) o4 (d) 69

Find the wrong number in the following series : ga%
1, 8,27, 64, 100, 216, 343

(a) 27 (b) o4 (c) 100 (d) 216

What is the degree of angle between the two hands of a clock when time is 3 : 30 ?
(a) 45 (b) 60 (c) 70 d 75

A clock time when seen through a mirror shows 5 : 10. What is the correct time ?
(a) 6:50 (b)y 7:10 (c) 6:40 (d 7:50

Anita started from a place A and walked 2 m towards west. She then took a right turn and
walked 3 m before turning to left and walked 5 m. Now she took a left turn and walked
again 3 m to stop at place B. How far is the place A from B ?

(a) 2m (b) 6m (c) 7m (d 8m

A watch reads 4 : 30. If the minute hand points East, in what direction will the hour hand
point ?
(a) South-East (b) North-East (¢) South-West (d) North-West

From a place A, Rahul walked 18 m to South, then turned left and walked 25 m, again
turned to left and walked 24 m and then turning to left reached at B after walking 17 m.
How far away he is from place A and in which direction ?

(a) 10 m north-east (b) 10 meast
(c) 10 m south-east (d) 10 m south-west

If July 15 of the year 2012 was Sunday, what was the day on July 15 of the year 2008 ?
(a) Monday (b) Tuesday (c) Friday (d) Sunday
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140. T o fopm 9 o1 Fetvet ay 2011 % THH BT ?
(a) 2020 (b) 2021 (c) 2022 d 2023

141. T 130 it it WML 45 Tehaamiiet i =et shi TRR | Teh g ol 30 HehUgH H IR L Tt
2| gl Sl T R R 7
(a) 200 X (b) 225 ™R (c) 2451 (d) 250 HieX

142, 3fE + T AT <, % BT AT 7, 2’ HT FF = qAT = B I+ B, A (17 +15-135 x
9+ 70) HIHAA IR ?
(@) 270 (b) 240 (c) 200 d) 170

143. 0 @ | S € w@wn (7) el g A
6,7,9,13,21,37,?
(a) 43 (b) 53 (c) 64 d) 69

144. T3 goft d 7o7d g Id= ¢
1, 8,27, 64, 100, 216, 343

(a) 27 (b) 64 (c) 100 (d) 216
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(a) 45 (b) 60 (c) 70 d) 75
146. TH U HIAAI NI A5 : 10 ST | TE THI R R ?

(@) 6:50 (by 7:10 (c) 6:40 (d 7:50

147. ifrar T A @ 2 . afvem Wi, 987 9 < gt 3R 3 #ff. Felt, R aR geet 5 et 9l |
3 SR G 3 H. TR B I W &k A1 § | T A, B € fehal gl 10 8 ?

(a) 2. (b) 6. (c) 7. (d 8.

148. TH U H 4: 30 s & | Ife fire 1 g3 o feon it 1w &, @ =2 < g8 form feon <t w
Bt 2
(a) cforgd (b) IR (c) cferur ufgem (d) ST UfTEm

149. TEA I A ¥ 18 . <f&r hi T S1an 7, 981 9 91 4 a1 & 37K 25 Wi, T o a1 fhe
TR qEo 24 Wl TAdT & | 39 1¢ T 9T YRt 17 HI. IR M B W Tgd STl
2 | 39 99 98 TUH A ¥ Tohaet gt W g e e femn 1 2 2
(a) 10H. I (b) 10 & (c) l1oH.gqugd (d) 10 . gfer ufvem

150. =g 15 JoTE, 2012 1 Te@m o1, @ 15 JATE, 2008 1 i &1 fe o1 7
(a) THER (b) TIAIR (c) IFHAR (d) Taar
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